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ECEn 487 Quiz

ECEn 487 - Introduction to Digital Signal Processing
Winter 2013

Quiz 3
cos (27 - 100¢). Suppose you sample the signal at a period of

1. (2 pts) Suppose you have a signal wx.(t)
T = 102 seconds and get z[n]. What is the Discrete-Time Fourier Transform of x[n]?

)’fﬁ:: (r,_ﬂ(/;':rr ,’0(}!‘(”6-;)) = fo-':(cj"r‘}fﬁ") 77 2
" A= JEic -0 :
A€
: ~ /T ot
st ) I T e /T
g 3
~ A ek ™w Sy i

i -7
2. (2 pts) Now, suppose you play back x[n] at a rate of T = 3 x 107% with perfect reconstruction to get r.(t).

What is re(t) ?
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3. (2 pts) Suppose you take z[n] and you downsample it by a factor of 3 to get y[n]. What is the resulting

Discrete-Time Fourier Transform of y[n|?
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4. (2 pts) Suppose you take z[n] and you upsample it by a factor of 4 to get z[n]. What is the resulting Discrete-
Time Fourier Transform of z[n]? Z e )
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5. (2 pts) Suppose that you sample z.(t) from Problem 1 at a rate of T = 3 x 10~} to get g[n]. What is the

resulting Discrete-Time Fourier Transform of g[n|?
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